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Write a short notes on:

(i) Neutron stars

(i) X-ray binaries

meestenle eShheeCelle eueke:

Q) veSeve legj

(i) Skeme-j Ueices

Describe Super-Novae and their characteris-
tics.

mefiej -veede Kede edemlee] heleked JeCeve edj  Gueked DeeYeueteCee

fede Yee oMeele~
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B.Sc. (Part 1) Examination, 2015
ASTRONOMY
Paper-I111
(Stellar Astronomy-II)

Time Allowed : Three Hours] [Maximum Marks: 50

Note : Answer five questions in all. Question No.

1 is compulsory. Attempt one question
from each Unit.
kedue heeUs febvee ked GOej osepeUe~ feMve me. 1 DeeveleeUe n~
lelUsked FheieF me Sked febve keieepeS~
Answer all parts : 20
meYee Yeeiee ked Gogj o
(a) Orhbital elements of a binary system.
Usice leej ked hedttece Dedelle
(b) Radial velocity of a star
leej kede edeple Jeie
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(2)

(c) Luminosity class of a star

leej Kede kedeele Jeie
(d) RR-Lyrae stars

Deej Deej-ueeFj leej
(e) W-Virginis stars

[yue-Jeepecveme l¢ej
(f) Pulsars

heumeme
(@) Stellar Magnitudes

legjkecUe kedeeleceeve
(h) Proton-Proton reactions

leeSeve-TeeSeve DesYeoeiUeele
(i) Colour-index of a star.

leeje kede jieched
(j) Stellar clusters

legjkeiele hepe

Unit-1/ FleeF-1 7Y%

Describe a method of determining orbital ele-
ments of a visual binary system.
ckedmee Uee Usicee leej ked kedttesle DedeUedee hede Yeele hedjue kede
eleeOe kede JeCeve kedj~
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3)

Describe the Lehman-Filhes method of finding
the elements of a spectroscopic binary.
chedmee JeCoredoeele Usice leej Ked kebsfeeUe DedeUedee kede Ueele kedjve
ke Lehman-Filhes eleg0e kede JeCeve kedj~

Unit-11/ FleF-11 7Y
What are the intrinsic variable stars? Write a
note on Cepheid variables.
Deeleejhed Uejkeicele leej kelee n? meeehedS[ Uejkeieele hej Skeé
eStheCee cueKe~
Write an essay on Novae.
veede fiej Sked cveyevOe eueKe~

Unit-111/FkegF-111 7Y%
Discuss the classification scheme for galaxies.
veeneejkeseDes ked JeieckedjCe JUedemLee kede JeeCele kedj~
Find the speed of the galaxy if it shows a Dop-
pler shift of 5'& for a line at 5000 2\.
Gme veeneejhede kede ieele kebe Yeele kedj, Ueeo Jen Sked jKee

O - O A - ~ A=
5000 Afe] 5Akde [ehuej eMeneS kedj olee n~
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